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Sequence structure
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the instruction is
executed one by one in
the order
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The way to change
sequence
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If(lEEEF U condition)
} goto 1Z & label ;
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Goto must work with if, otherwise it won't stop (infinite loop)
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HaHaHa!
EN10%x
Print HaHaHa! 10 times




#include<iostream>

using hamespace std; EEW

int main() A5 ¢4

{ Start to repeat
int 1=0;
repeat: CleafhEa
COut<<”HaHaHa!”<<end|’- The main body of

repeat

I=i+1;
if (i<10){

goto repeat; ACESNE
} 22 IR

return O; The termination condition of repeat
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In the 1960s, it was found that the transfer

of control will make software development
become more difficult.
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Because engineers need to a great deal of

it transfer of control, error detection and
modification. It's more difficult
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Lead you to know an
intuitive thinking. And to
know the development
of repetition structure




